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SCHOLARS ACADEMY

[ General Awareness }

1. Fofiea # @ fed 9 fig & wu d Ryfia fear mn g
et Igferd gea & ary i I 8 Smyfd, AT
Which of the following has been determined as 'the
point where supply and demand for a product meet with
equilibrium price?

(a) T YA (b) myfd a%
elasticity of demand supply curve
(c) WRTdH (d) SR dgaT

demand curve market equilibrium

2. fgfifed & ¥ f5a wad & Iag & fae ufd e
S it BT IR Biell 82
For the production of which of the following crops,
maximum water is required per hectare?

(a) T (b) ot
Potato Sunflower
() T (d) U™
Sugarcane Cotton
3. BT 4 TH Pl |
The genus name of is Cucurbita.
@ Pqg (b) ST
Pumpkin Potato
( o (d) THRR
Eggplant Tomato
4. AEH TR R forfad we g g
‘Life Mantras’ is a book written by —
() AT IS (b) G 1T FERI
Ramalinga Raju Subrata Roy Sahara
(€ TTIA (d) U dg

Naresh Goyal Subhash Chandra

5. YR Ifdu &1 Fafifed & 3 oF 91 srgwe, I &Y
AR i SR YR &1 ol o1 fFax &d
Which of the following articles of the Indian Constitution
directs the State to promote international peace and

security?
(a) SfTRG 48 (b) TG 51
Article 48 Article 51
() SfT=a 50 (d) ST 40
Article 50 Article 40
6. UFITd &I dRRY TS DI AL TS R

The Third Battle of Panipat was fought on
@) 14 SR 1761 (b) 31 3T 1796
14 January 1761 31 August 1796
(©) 26TdsR 1773 (d) 830 1782
26 November 1773 8 April 1782

7. MR o o & snfieie fag o RG]
The official symbol of the Reserve Bank of India consists
of :

(@) dIS pI &

(b) Uid &1 ge

Palm tree peepal tree
(¢ TIdId T g&f (d) RTq DT Fe
rose tree Banyan tree

8. ek # g1 UIcl & AAWR IR 1M & Ty wWhifey arct &
Sifere fér-gaf BR 31 Fafifed # ¥ eH- of
Which of the following passes connects the last south-
eastern end of Spiti Valley with Shailkhar and Chango of
Hangrang Valley in Kinnaur?

(@) RRmmem (o) Peitar

Sirma la kuli la

() JerAd (d) du=Tar

chakshachan la lepcha la

9. 1982 T, facelt & Smiforg gu TRMTS Wdl & YU & ¥4
T g o O foraest SUanT faear AT o ?

In 1982, which of the following was used as the mascot
for the Asian Games held in Delhi?

(@ PARE-TWiHEa (b)) SidT-aEd R
gait atung-bawan deer

Different - colorful birds of

heaven

() DIDHI-UH AN AT ad  (d)  S-BT BT &=l
appu-elephant baby
Kaka-One Horned Javan

Rhino
10. g AER WHF A9 & ¥ g yRda g & wgEd:
AT ST © ?

The Buddhist festival 'Songkran' is mainly celebrated in
which of the following Indian states?

(@) SRUMEd UG (b) IRES
Arunachal Pradesh Jharkhand
(¢ fRumaauex (d) darEeTg

Tamil Nadu

11. Fafiied & 3 fog wsu & TR fear fRa &2

In which of the following states is Nahargarh Fort

Himachal Pradesh

located?
(a) HeRg (b) TSR
Maharashtra Rajasthan
(¢ U9 (d)y TIeRId
Punjab Gujarat
12. A SR8 3fheR &1 g Fufifed # 3§ frg ad d g5
g
In which of the following years did Mughal emperor
Akbar die?
(a) 1666 (b)y 1789
() 1605 (d) 1540
13. it Sw 1 Tfaem oS Il & gfd orar 81| Fafafea
# ¥ P I faded 376 9 T g1 g1 g1

The constitution of a country serves many purposes.
Which of the following options cannot be one of them?

(a) T3 AT SR Ryidl  (b) T8 B BHR FHS b
F T & T0H w1 e Upfa ISR
PR 5, o SYR W PTG
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SCHOLARS ACADEMY

It serves as a set of rules and

T ol Ffa e
IHhd1 g

It exposes us to the
fundamental nature of our
society.

principles on the basis of
which the country can be

governed.

(0 TTHTWUMARTFIV (d) T8 FS MR I YgArd
B WBR & fegefia ol & g S0 H RaRR
WEY BT RPIR TG Q1 S A1
EliRY It gives consent to certain

This includes that the country
should retain its presidential

ideals that should be
maintained in the country.

form of government.

14. ?ﬁ%ﬁ@ﬂ%@ﬁ%éﬂ%a{waﬁ HET ATl
I
Scientific study of various aspects of plants is called
(a) STAPTECT form (b) i fomTF
bryology Zoology
(© (d)
botany biotechnology
15, fafafed & 9 oF-, ffew yRa & ia 3 9f § d&fia
T JurTedt &t
Which of the following was a system related to indigo
cultivation in British India?
() aTcft b) =
Bali Nij
(c) dforeuy (d) S
Vanikpath Zabt
16. & fhed Biead 2023 fHY TI9F fFAd & REHR I

17.

e forar T g2

Who has been awarded the Best Actor Award at Cannes
Film Festival 2023?

(a) IoH Trpen (b) foregam
Koji Yakusho Chris Evans
(c) XIeC ST (d) SFER ARY
Robert Downey Jennifer Lawrence
P HRT & 839 TSl HSHRER & T 52
Who has become the 83rd Chess Grandmaster of India?
(@) JYIaI (b) SIS Wb
Prithu Gupta Adhiban Bhaskaran
(0 onfe amd (d) e ad=
Aditya Samant Nihal Sarin

18.

DI I §F TR Uad Y g FideiHe JusbH! SR
oY &1 Ui B UTETaT 38T 82

Which bank has been the major lender to state public
undertakings and corporations for the fifth consecutive

year?
(@) HRISH (b) USE AT §F
Canara Bank Punjab National Bank
(€ HRAEWe dF (d) d% 3w e
state Bank of India Bank of India

19. WIHI A [59 I F Peald TeNY ¥ dabTd YHE 9 o
gar faang?
FIFA has lifted the ban from which country's football
federation with immediate effect?
(a) SiciepT (b) TIfhE™
Sri Lanka Pakistan
() S (d) TSt
Japan Canada
20. T 51 H ARG T20 908 HY 2023 F Radms fhg g ot
& A Share
Which country's team recently won the title of Women's
T20 World Cup 20237
(a) HRA (b) TS
India England
(c) GIaruT S{hihT (d) Sirefern
South Africa Australia

21.

(a)
(@]

22.

(a)
(@

23.

(a)
(@]

24.

(a)

Less

(@]

sma

[ Reasoning ]

e Fgiferd spfa & Meer Ue Siay 91 ST §, af
DI 91 S, J§ R T el g1 T8l 81 gl g ?

When the following figure is folded to form a box, which
page cannot be adjacent to page R?

P by T

u (d) S

I fdehed &1 Ig7 B Sl FHR) W Y I UDR Feifdd
2, o U e} e ugeh o § G 713806 ¢
83:7

Select the option which is related to the third number in
the same way as the second number is related to the first
number.38:6:83:7

10 (b) 8

9 (d)y 7

IR H B, B, D B AR Y s PR
Rl &, Ol Fafofad aiere &1 A= &1 g1 2 105 J 29 H
9 Y 16 D 84

If 'H' represents 'x', 'J)' represents ', 'D' represents '+’
and 'Y' represents '+', then what will be the value of the
following expression? 105J 29 H 96 Y 16 D 84

108 (b) 15

78 (d) 69

TR BT &Y G J Blp I8 RE 8, o TR UK} 1
ey IR

'Hot' is related to 'cold' in the same way as 'heavy' is

related to
FH (b) Beh
mild
d) &3
I elder
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25. TS Mi¥d Hc U &, RAMP &1 3611332 & U H Hedg
forar oTTaT | St e W1 H, DELLS! fh U & Heax
[ERISII

In a certain code language, RAMP is coded as 3611332.
In the same code language, how will DELL be coded?
851214 (b) 852424

851224 (d) 810224

26. IR 3fER-Ug AU ML g, oM @ It Ffdd o 9
T § 3R U ST 8| SRATT 3eR-THE T Ig-
BT
Four letter-clusters have been given, out of which three
are congruent in a certain way and one is incongruent.
Select the incongruous letter-cluster.

(@) Wwycl (b) HINT
(c) BDHN (d) ZAE)

27. fodl (ST e WIoT §, MELON &1 TCSKU & =0 # forar

ST & 3R CHAMP &1 JFHIW & ¥ # forar St g1 33t
P YT T FAMISH P fovg =0 o ferar Simem 2
In a certain code language, MELON is written as TCSKU
and CHAMP is written as JFHIW. How will FAMISH be
written in that code language?

(@) MYTEZB (b) NZSFYH

() MYTEBZ (d) NXTEBY

28. 39 fAdHcd BT 99 &Y, Sl AR S1&R-TYE ¥ 34T UHR
Taifdrd B, for TR GERT 31&R-TE Ued 3HeR-T4g
&I B 1 FELT : PAVP = SACK : ?

Select the option which is related to the third letter-
cluster in the same way as the second letter-cluster is
related to the first letter-cluster. FELT : PAVP :: SACK : ?
(@) CXNG (b) BWNH
(c) CWMG (d) BXMH

29. TUH URAR A U Afad | 343, Hi &1 43 5| g,
S PTIAB ﬁmsﬁiﬁmmﬁgﬁﬁ% REREA
e 3iSIfeT A g3 B 1 AR T AT ST A §S B 1 31U B
S Y HT GEY 7
There are seven persons in a family. Abhay is the son of
Monu. Nikunj is the son of Anjali. Megha and Shreya are
daughters of Rakesh, Rakesh is married to Anjali. Monu
is married to Shreya. How is Abhay related to Rakesh?

—_~ o~
0
— =

(a) TS (b)

Brother-in-law grandson
© W (d) <M
Son son in law

30. 39 37 3RW BT TG Hx, Sl (HfIRId ol & o & ey
B I 3 RIb J AT 31 g, e, Slaex
Select the Venn diagram that best represents the
relationship between the following classes. man, father,
doctor

Mob. - 01141676717,9312712114

31. T fAf¥d He uToT §, DERMATOLOGY @I 10 ferar STar g,
3R MAXIMUM &' 6 foraT SIrdT 81 3 ey &
NOCTURNAL 1 foog YR ferar Sira?

In a certain code language, DERMATOLOGY is written as
10, and MAXIMUM is written as 6. How will NOCTURNAL
be written in that code language?

(@ 9 (b) 8

© 7 d 10

32, I 'x 3R '+ FRIGI Bl U1 '6' 3R '5’ 37l B IR Fed
fear S, @ FRafeiad it &1 7 Far gRm?

48x5+9+6-(32-7)+9
If the signs 'x' and '+' and the digits '6' and '5' are
interchanged, then what will be the value of the
following expression?
48x5+9+6-(32-7)+9

(@) 86 (b) 44

() 57 (d) 37

33. <17 3pla & e U Hfifed 1 Tg BTG, Seif
U 1 SHP! ITS SR TN T 7
Select the correct mirror image of the given figure, while
the mirror is placed on its right side.

(a) @' (b) E
(o) & (d) @

34. fRUTU et & ¥ 39 B &1 Tg9 Hifore ot & 1
siget H Uy fRIF (2) & WM W ufa1iid g g 3
42,24, 34,43,7,89
Select the number from the given options which can
replace the question mark (?) in the given series.
42,24, 34,43, 7,89

(@ 53 (b) 78
() 98 (d) 86

35. ©E 9 Mg, T4, B, ¢d, M 3R IO IR o= ot
3R YT B T Ufad & WS &1 SU, MR & 3R
3R TR VM R ¢ 3R BT F a1 IS H TeT ¢ | Tl
3l YR BT F S A B1 Yd F 1% iR I ™A R
B 8?

Six children Anand, Badri, Chhaya, Dhruv, Shrikar and
Umesh are standing in a line facing north. Umesh is
second to the right of Shrikar and stands to the left
neighbor of Chhaya. Badri is exactly between the pole
and the shadow. Who is fourth to the left of Dhruv?

(@) BMI (b) JUN
Shadow Umesh

© i (d) SfFic
Shrikar happiness
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36. YFH AYBF al o ol SR RIMF AY C & oA

fe@el &1 9e 8,750 B, A RIM® A ¥ B & oA fewel
IR RSB A Y C F & fedvel o1 7 9,825 T | RIFH A Y
RIS B 3R C BT fxman fba-fpam 82
The cost of two train tickets from station A to B and
three tickets from station A to C is 8,750, but the cost of
three tickets from station A to B and two tickets from
station A to C is 9,825. What is the fare from place A to
place B and C?

(@ 1,965 3R 1,890

1,965 and 1,890

(© 22253 1,635

2,225 and 1,635

(b) 2,320 3R 1,395
2,320 and 1,395
(d) 2,395 3R 1,320
2,395 and 1,320

37. U [qomedl & ¥ 39 SH{d &1 T Piforg off Fgifd
U # Uyaras g (2) & RIF W 311 Gavdl § 3R U ol
RIHR Geball 3| (3BT I GAM BT SFTAT L1 ©)

Select the figure from the given options which can come
in place of the question mark (?) in the following pattern
and complete the pattern. (Rotation of the shape is not
allowed)

(a) (b)

() (d)

38. U® fAf¥d e U B PLACE % QMZDD forar ST § 8k
BEAUTY & CDZTUZ ferar irn 81 34t Foe vron &
MANSION ! fordl TR ferar simaem?

In a certain code language, PLACE is written as QMZDD
and BEAUTY is written as CDZTUZ. How will MANSION
be written in that code language?

(@) NAMSNOI (b) NOISNAM

() NBOTJPO (d) NZOTHNO

39. P,QR, S TR USE AT, d T ufda & afdor ot sik
g fPUGUES §1 P, RF 31 a1¢ 3R T F a1E gaR WA
WREGIEIT,RP SIH U IBTZ| U, R P S8 gOR ”IM R
1R Q, s & &I 1 Jo71 31 UfdT % TheH ol SR |
HH JBT 87
P, Q R, S, Tand U are six friends, sitting in a row facing
south. P sits immediate left of R and second to the right
of A. T is sitting to the immediate right of R. U sits
second to the left of R. Q is sitting to the immediate left
of S. Who is sitting at the extreme right end of the row?

@ Q (b) U

o T (d R

40. ifed egfa & fraw smad &2

How many rectangles are there in the following figure?

(a)
(@]

|

i

7 (b)y 6
8 (d)y 9

Arithmetical & Numerical Ability

41.

(a)
(@]

42.

(a)
(@]

43.

(a)
(@]

44.

(a)
(@]

45.

(a)

8 months

(@

18 months

46.

112, 72 3R 90 &1 AYTH FHTTY (LCM) &-

The least common multiple (LCM) of 112, 72 and 90 is-
3780 (b) 7560

2520 (d) 5040

e 15 TRl BT 5T Yo 20 TRl & [A5hT Yo I SRISR 7
GIEERIGRGEE

If the cost price of 15 oranges is equal to the selling
price of 20 oranges then the loss percentage is:

30% (b) 75%

25% (d) 40%

SOIR T | 25% 1 B! & A1, W1 . 30 § 1 fan
31 <+t T Febcht 1 = b1 aRafae Hew T
BT

With 25% reduction in market price, Sita sells for Rs. Can
buy 1 kg more sugar for Rs 30. Find the actual price of
sugar.

7.5 (b)y 10

16.5 (dy 73

T Oefl 7 1el, BR Td Tl ¥ & CIob 3@ ¢ @, A1 Td
B TN BT 30T 5:11 § STafeh el U4 A1 eleb bl
3UTA 7:15 §1 BX Td TQTell SiehHT T SUTd a1 FTI?
Red, green and pink tokens are kept in a bag, the ratio of
red and green tokens is 5:11 while the ratio of pink and
red tokens is 7:15. What will be the ratio of green and
pink tokens?

77:75 (b)
33:7 (d)

P 3R QA UH TaU™ H 5 : 13 F 3gurd & 3w far 1Q
I 6 AEH T8 3U Yol Febra ot | afe IR SruAT Ay
25 :26 & 3(JUTd | A {1 51, ot b1 A 1 fbaA
FHY db FUII 1 18 ot 2
P and Q invested in a business in the ratio 5: 13. Q
withdrew his capital after 6 months. If they shared their
profits in the ratio 25 : 26, then for how long was the
amount used?
8 wEH (b) 15 HEH

15 months
18 HEH (d) 127N

12 months

fSrot 3rpen U AR &l 7.2 fat & Ue &R Topar 3 T
AY B Ig BT B F 10.8 T @1 § 1 T T F1H HA
TR EIaR & 5/6 HFT &I Ue & H fobaq fea e

11:7
75:77

Mob. - 01141676717,9312712114
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47.

(a)
(@]

48.

(a)

49.

(a)
(@]

50.

(a)
(@]

51.

(a)

8 years

(@]

11 years

52.

SCHOLARS ACADEMY

Bridge alone can paint a wall in 7.2 days while Madhu
takes 10.8 days to do the same work. Working together,
how many days will it take to paint 5/6 of the wall?

4.2 (b) 36

39 (d) 4.8

TS deel & & dRa g A 3R B 7: 5 % Sigurd | fifda
31 3 frgor & 9 dex &1 10 ofier B TR ¥ vfaRifia
fora ST €, A G AR UGTdf &1 SIUTd 7:9 B I gl
Fee] H @R A fba efez ur 2

Two liquids A and B are mixed in a bucket in the ratio 7 :
5. If 9 liters of the mixture is replaced by 10 liters of
liquid B, the ratio of the two liquids becomes 7:9. How
many liters of liquid A were in the bucket?

25 (b) 2275

31 (dy 21

TP 1Y U Sl DI 12 B¢ & WR Tohdl § 3R GIRT Uy
T 15 °9¢ H WR YT g1 TG GHI UTSUT &1 U W1 Wil
ST &, T THT BT 31T 4R & o1 e g e
One pipe can fill a tank in 12 hours and another pipe can
fill it in 15 hours. If both the pipes are opened together,
how much time will it take to fill the tank half?

4%‘@? ;lqz

—~
O
=

(V¥

6= ® 2

W | o

3680 TR 4% TTMYes ATRUT STl 1 & 2.5 I H fha
TST T I

How much interest will be received on Rs. 3680 at 4%
annual simple interest in 2.5 years?

368 (b) 92

184 (d)y 274

o T2ff wa AT # 16000 a1 fraT| 98 a9 BH W
T a1 & UTed T Afe 9 - 9 HEH o oy ufday 20%
bl 31T B &R W o= foba|
Mr. Marthi invested Rs. 16000 in a scheme. How much
money will he get when he becomes an adult if he
invests it at 20% compounded today for 9 months?
18523 (b) 18521
18524 (d) 18522

P,QA 29N §8IE: Q RU 4 ¥ BleT 2| T I 31 BT
T 27 8, A Q BT 1Y fpat 87

P is 2 years elder than Q; Q is 4 years younger than R. If
the sum of their ages is 27, then what is the age of Q?

g ay (b) 9Ty

9 years

(d) 739

7 years

o Tl 1 3NEd 28 B 1 afe T I Y= H 2 Wi
fear 9T iR ge) 9t e § ¥ 5 vl faur Sie o 7en &
3fcp FHICR AILH §) Sl §, Siieh 3fieps! &b 38 ¢ Iy
BT IR 36 B ST &1 37 o1 TReAmait b o Tead b
T T} T T 72

11 9%

Mob. - 01141676717,9312712114

The average of three numbers is 28. If 2 is added to the
smallest number and 5 is subtracted from the largest
number, the middle number becomes the arithmetic
mean, while the range of this new set of data becomes
36. What is the largest number in the original set of
these three numbers?

(@ 50 (b) 48

(c) 47 (d) 45

53. PloY H 90 arcl TSl TP Hfad B UR Bl 5, oIl ST
f&=I# 3 km/hr 1 7110 & Uere =reT 38T Y11 98 At 39
TSI HT 100 m B g3l I, 4 fe I <@ Il AT Mt
EIRIGKERIRIK
A car moving in the fog crosses a man who was walking
in the same direction at a speed of 3 km/hr. That person
could see that vehicle up to a distance of 100 m for 4
minutes. What was the speed of the car?

(@ 9/2 km/hr (b) 7/2 km/hr
(©) 5km/hr (d) 5/2 km/hr

54. U®H UGN o 14 fh /ger &) IR ¥ gad g1 15 e
H ¢ GRT a0 $I T8 g2 BT T0HT B
An express train runs at a speed of 14 km/hr. Calculate
the distance covered by the train in 15 minutes.
(@ 33km (b) 32 km
() 36km (d) 35km

55. U& 19, forges! =1id oid o 91 15 fpHi/eer g, 4.5 9 &
T 1 = 77 30 fpeh STt B R o1 & faudia ez &
TABR AT ST F | YRT P 31 1 BT
A boat, whose speed in still water is 15 km/hr, goes 30
km downstream in 4.5 hours and returns upstream. Find
the speed of the stream.

@) 4 fee/der (b) 5 el et
4 km/h 5 km/h
(© 10 fepdt/der d) 6 el Eer
10 km/h 6 km/h

56. Udh 3Td fo® 3 4 cm 3R 5 cm 8, BT HISHR Th
qHaTg Y 9 o ] 1 39 weR FAfifa wHerg fys
DT QB fohaT SRIT?
A rectangle whose dimensions are 4 cm and 5 cm is
folded to form an equilateral triangle. What will be the
area of the equilateral triangle formed in this way?

(@) 9v3 cm? (b) 3v3cm?
(€ 6V3cm? (d) 9/43 cm?
57. HicR 9vft 142, 148, 154 &1 12 91 UG o1 gRTI
What will be the 12th term of the arithmetic progression
142, 148, 154 ?
(@ 210 (b) 200
(c) 208 (d) 300

58. e faan T o e § peard (p), gl (H) 3R
SR eald (B) e ard faenffal o) TRem exiar g1 Wa F
Qe ard faenfiat &) pa e g?
The diagram given below shows the number of students
playing Football (F), Hockey (H) and Basketball (B) in the
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class. What is the total number of students playing game
F?

(b)y 49
(d) 62

(a)
(@]

59. TS secd + tand = 3.2 §, A secOd BT HH FIT g2
If sec® + tan® = 3.2, then what is the value of sec8?
(@) 2.28 (b) 1.6
() 1.75625 (d) 1.92625

60. U foig forelt Yarde &1, fdg (4,5) 9iR (-3,3) FI WSd §T
HTARP U I 2:3 & U & fauiiord axar g1 fig &
[EERICZR IR
A point divides a line segment joining the points (4,5)
and (-3,3) internally in the ratio 2:3. Find the coordinates

of the point.
(@ 11/5,17/5 (b) 13/5,17/5
(o 12/5,13/5 (d) 6/5,21/5

61. TRIRIAT T sgwe W $@ Weg gl QU MU §1 3w Ty
Al ot gerrar ¥ Rad ®IH W | Yde 9= & fag
I UG [ddhed HT 999 B | BT BT T (1)

fee w2 o1 g 81 W1 & ()T A ofF Upfa

FWIAEFH U E) ¥ 3R a8 Sfvsi § oo
SHifad g & fre upfa &t (4) IR R o1, 79 3T
Upid & 3% IUIGHI DI (5) __ URW B TR &
fad =M (1) % fog Tl Suged wrsg gm-

(a) TfOr @Y (b) Gadrsf ®f

() XrSTaf &l (d) HIF D!

62. TR & Rad R (2) & fore walfies Iuged Tsg grm-

(@) WM (b) N

(€ URMNS (d) Mg

63. faU TN gty # Waifhd TS &I UfaiIfud & & fow a9
Iugad fAhed &1 999 $¥ | fS 5 Ui B &t

aTgHdl el 7, dl faepey fdt Igara o1 siawaear 7gf

%ﬁgwﬁm@mm%ﬁﬁﬁﬁm%aﬁ

|

(a) foddt Sgama ot (b) T Hl b B &
3Dl e |

(0 TIFAPHREAEIAG!  (d) % HAT P &R Gl 8

64. 9 H A a1 faew-gm IE e 82

(a) Sfd-3fic (b) or-faw

(o) e&fd-faea d) Sry-3fa

65.

(a)
(©

68.

(a)
(@]

69.

(a)
(@]

70.
(a)
(@

71.
(a)
(@

72.
(a)
(@]

73.

(a)
(@

74.

(a)

(@]

75.

fou T g1 # Y@ifed We B ufaeiid &R & for g9y
Jugad fdded &1 9 $¥ | e 38 UfaRAfid = Bt

IS 81 g, d fawed forht ggara o) awuear gt
& Ol ooy fop il Saaa Bt TaRgendl T8 &' BT Ig B

15 A 3o TR i ) el &t e el |
i i 1 g Bt (b) fHh geama Ht
T <l TIRHAT el B
U i &1 g &t d) oo i ® s &t
s fqd | g {3

. s THM G E-RTea THE P RIM W T Wsg
ferRau |
IR (b) TEAE YR
Sifgiig (d fecig

. Rou U areT o1 98 W d B o H1E IR 71 afe

P18 7 TR, AN PIE Fe T & T BN (1)) TR
P (2)/ TG 51 3)/@'% 3T T8I 51 (4)

1 (b) 2

3 d) 4

T 70 a1 # Ywifd @ @) ufRifid B & forg ged
JUYH fadhed T 99 B | AfG 38 UfauTd H= ot
T 781 8, Y ey foddl sraaiia @t amaxaedr e
TP IT B | I R Fs US U TS 77|

ggl b) TS

bl Sgara ot d) w3

STaLHdl Tal B

e R B WA & foTT T IUgad Wsg HT 9T B |
foufy & Y HTH AT ATl

ey (b) @

CIEG|| d =

13U 7T e &1 fad| g | SIS

3 (b) THd

W d) 3

T QI FIHRAT P oY U g BITI-

Tt (b) YA

RiRies] (d) TSI

S 91 faeH gm gafe e 82

TRA-faRa (o) HUUI-CTAT

PI-HU d) THR-3R

o R WRA & o T8 IUged e &1 T B | 30
4 R 3dMT 3l T8

SHfEE (b) SFHHE

S[GHTAT (d) STHA
ﬁnw_?ﬂaaw YT 1 3 o Pis Ffe 31 afe B8
PTG E A PR zféﬁriﬁ% G | WRT AT (1)/ I4b e
(2)/ T Uit A 3)/ PR AR TR © (@)

1 (b) 4

2 d 3

33 T e & o U Weg I WA W a®
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(a)
(@]

76.

(a)
(@]

78.
(a)
(@]

79.

—
Q
=

—
(o)
~

80.

(a)
(@

81.

(a)
(@]

82.
(a)
(@]

83.

(a)
(@]

84.

gaf (b) SMMUTGHNI®
Hguf TR d) @R

fau T T ¥ Ywifed We o UfaRiiid e & fore ged
IUH fadhed BT 99 B | FfG 38 UfaAId B &t

TTLIH T e 8, Y [depey Tt saetia Bt Saggesdr el

TR IA R W IR 8 9H I 98 S &l T

CEI (b) HPpIei
IERICESIEEDS d) &I
3aRTHdT T81 g

B T Wec It T FATTRN Weg TET B2
GIEES] (b) Rret
SBUTTRIET (d) Pabc
fau e wreg &1 faey g | sme

UG (b) Fem
ESIcT (d) sHeH

1 B e B1E M 81 e B
%qg (1) / HR-WRH (2) /
)

engisn |

Comprehension: In the following passage, some words
have been deleted. Read the passage carefully and select
the most appropriate option to fill in each blank. The
power of words (1) an enduring effect and can be

2) by all men and women. Words are not (3)
for writers or lovers of literature. Every profession is
4) by words. It is impossible to (5) oneself

without using words. Select the most appropriate option
to fill in blank no. 1.

are (b) has

is (d) have

Select the most appropriate option to fill in blank no. 2.
pleased (b) impressed
looked (d) enjoyed

Parts of the given sentence have been given as options.
One of them contains a grammatical error. Select the
option that has the error. The easiest way to make pasta
is to be followed Chef Kapoor's instructions on YouTube.
instructions on YouTube (b) to be followed

the easiest way (d) make pasta

Select the most appropriate option that can substitute
the underlined segment in the given sentence. If there is

—~
(g
~

85.
(a)
(@]

86.

—
Q
=~

—
(g
~

87.

—
Q
=

—
(g
~

88.

(a)
(@]

89.

91.

(a)
(©

92.
(a)
(@]

93.

(a)
(@]

94.

no need to substitute it, select 'No substitution required'.
If the air pollutes with small particles, natural or
otherwise, the sunset will be more red.

will be polluted with (b) is polluted with

No substitution required (d) was polluted with

Select the incorrectly spelt word.
Imaculate (b)
Immense (d)

Impediment
Immature

Select the most appropriate option to fill in the blank.

The little girl —— a puppy from the street.
preserved (b) transferred
passed (d) rescued

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error. | am thinking / your idea will be /
really appreciated / by everyone.
| am thinking (b)
your idea will be (d)

by everyone
really appreciated

The following sentence has been into four segments.
Identify the segment that contains a grammatical error.
Water / freeze at / 0 degree / Celsius.

freeze at (b) water

celsius (d) 0 degree

Select the most appropriate meaning of the given idiom.
Between Scylla and Charybdis
Winning a competition  (b) Choice between two
pleasant alternatives
Dividing into equal
shares

Choice between two (d)
unpleasant alternatives

Select the incorrectly spelt word.
Injury (b)
Sheild (d)

Thrust
Attach

Select the most appropriate synonym of the given word.
Keen

Benign (b)
Jovial (d)

Eager
Active

Select the most appropriate of the given word. Toll
Drive (b) Sweat
Rest (d) Climb

Select the option that can be used as a one-word
substitute for the given group of words. Shortened form
of a word or phrase

Precis (b)
Anagram (d)

Summary
Abbreviation

Select the option that will improve the underlined part of
the given sentence. In case no improvement is needed,
select 'No improvement required'. He did much
mistakes.

Mob. - 01141676717,9312712114
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(@) committed many (b) make many mistakes
mistakes

(c) No improvement (d) did many a mistakes
required

95. Select the option that can be used as a one-word
substitute for the given group of words. A person who
walks in his/her sleep

(@) Exorcist (b) Atheist
(¢) Somnambulist (d) Ventriloquist

96. Select the option that can be used as a one-word
substitute for the given group of words. The sound an
elephant makes

(@) Bray (b) Grunt
() Low (d) Trumpet

97. Select the most appropriate option to fill in the blank.
The systems on back-up battery when the
electricity goes off.

operate (b)
drive (d)

activate
control

—
Q
=

—
(o)
~

98. Select the most appropriate antonym of the given word.

Persist
(@) Discontinue (b) Convince
(¢) Enable (d) Incline

99. Select the most appropriate option that can substitute
the underlined segment in the given sentence. If there is
no need to substitute it, select ‘No substitution required'.
Many of the apples were rotten.

(@) was rotten (b)
(¢) is been rotten (d)

No substitution required
is rotten

100. Select the most appropriate meaning of the given idiom.
Raining cats and dogs

(@) Catand dog fight (b) Too crowded
(c) Raining heavily (d) Raining lightly
[ Basic Familiarity }
101.  HETYRA b ........ 3T F HiTad Tl 31
There is Bhagavad Gita in the ......... chapter of
Mahabharata.
(a) 16di16th (b) 174117 th
(c) 18di18th (d) 19 th19df

102.  IF T1 ST 89 & T4 9 URyg um?
Which king was famous as Hemu?

(a) U ¥Ues fApaied (b) HeWIg R Muhammad

Samrat Hemchandra Ghori
Vikramaditya
(©) Eﬁa’q_sf:l Harshavardhana (d) 3{®&R Akbar

103.  gRamon & g & fry Rara &t aeayf Yfae 0

Mob. - 01141676717,9312712114

(a)

104.

(a)
(@

105.

(a)
(@]

106.

SCHOLARS ACADEMY

Which princely state had an important role in the south

of Haryana?

SIAYR e princely (o) =TT Ramaa princely
state of Jaipur state of Nabha
EERGNRIRG] (d) ufeaTen RamId Patiala
Chhachhrauli princely state

state

SR UBTS! $E R &7

Where is Indore hill located?

T9Td Mewat (b) YUddd Palwal

IATS! Rewari (d) |G Mahendragarh
eEa e forw foret & fRya 82

In which district is Badkhal Lake located?

=UTH Gurugram (b) 3@ Bhiwani
BRIGIEIG Faridabad (d) I§dD Rohtak

FATON I UGNUT I SIS 1 716 S b 11 o2
When was the Haryana State Pollution Control Board
constituted?

(@) dY 1974 (b) a¥ 1976
the year 1974 the year 1976
(© d91980 (d) T 1982
the year 1980 the year 1982
107. Huradl YT H R &1 g A &1 87
What is the main means of irrigation in the intermediate
part?
(a) SR rain (b) g Canal
(c) E‘ﬂ:sla?f Tubewell (d) T g4t all these
108. HIHNIS Y&A STafaggd uRareH farg Tex wR fAffa g2
On which canal is the Kakaroi Micro Hydroelectric Project
built?
(@) fiar 98 Bhiwani (b) T=UM T8 Gurugram
Canal Canal
(c) HIRISTHGR Bhakra Canal (d) u@ﬁmw Western
Yamuna Canal
109. fcel- iaTA- SRR X AN g & by forat ¥ giax
ToRdT §?
Delhi-Ambala-Amritsar rail route passes through which
district of Haryana?
(@) Panipat I (b) Karnal AT
(c) Kurukshetra Wéﬂ?l (d) All these gt
110. gRamon I ¥ fafafad § 9 oy g9  ggalt IR
VVPAT &1 IUZNT fobam a1 U

(@]

VVPAT was used for the first time in which of the

following elections in the state of Haryana?

Uard 9919 2015 (b) R R gAE 2018

Panchayat Election 2015 Municipal Corporation
Election 2018

(d) THEHT A1, 2014 Lok
Sabha election, 2014

Shie AT g1,
2019 Jind assembly
election, 2019

Page 9




111.

(@]

112.

(a)
(@]

113.

(a)
(@]

114.

(a)

(@]

115.

(a)

(@]

116.

(a)
(©

(a)
(©

SCHOLARS ACADEMY

o yaforur e & ey | B9 91 HYE I8 T8l 82

Which statement is not correct regarding the Special
Environment Court?

WeEG IRFEEA T (b) T, T 311fe et
3 fovly yafavur =marerg TRICEIE & JHR &
R fT T E Two T 31d &1 Mewat,

special environmental
courts have been
established at Faridabad
and Kurukshetra

Gurugram etc. districts
come under the
jurisdiction of Faridabad.

Uagdl, sud, R (d) U SR FAT fopeit
affe; o =T & Wt SfIPR &= & 7151 o
3aifa Gﬂ?f% Panchkula, % Panipat and Karnal do
Kaithal, Sirsa etc. not come under any
districts come under jurisdiction

Kurukshetra
eiamn & wrta Mot & g & o srrgfed sfa @t

gﬁﬁmﬁ%ﬁﬁaﬁaaﬁaﬁ%ﬁm@umw

What is the mandatory educational qualification
prescribed for women candidates belonging to
Scheduled Castes for elections to local bodies in
Haryana?
54T U 5th pass

(b) 8dl UM 8th pass
1041 U 10th pass

(d) 1291 U 12th pass

BRATUN BT P17 1 Tl FRiam TR Td Ieriferep ot &
AT J ST Sl 82

Which district of Haryana is known as education city and
political capital?

3{dTT Ambala (b) Wéﬁ Kurukshetra
ﬁm Rohtak (d) Sonipat

frafafed & 9 19 a1 3id 9 S MATHR MY 52

Which of the following is a circular ornament made of

silver?
Q_cp[ 5_5: broken

U anklet
AR} Newari (d) d-ThI Tanaka

TR o 31 2P 3 Agaygl F1a ot

Important period from the point of view of temple

construction was
gt Traredt- 11df Wl (b) 5t el 7T s} 5
Vin- 7th century

8 Vin- 11 th century
5t rcfTed]-gdl Welledl 5 (d)  3TH H PIs Aa1 None of

Vin- 8 th century these
PG B bl fdrads gRT S=amaT 147 UT?
Kanod Fort was built by whom?
HRIST Marathas (b) XISYd Rajputs
HITA Mughals (d) ﬁ'ﬁ@ffﬁg:ﬂﬁ None of
these
ghes ot wel fRua 87
Where is the Suryakund shrlne located?
e Mahendragarh ) Siig Jind
Toidd Palwal (d) AR Yamunanagar

Mob. - 01141676717,9312712114

118.

119.

—
Q
=~

—
(g}
~

120.

(a)
(@]

121.

(a)

(@]

122.

(@]

123.

(a)

(©

124.

(a)

(@]

frafafad & & o Suyg &1 5 S 87
Which of the following is the main work of Banabhatta?

PHIeTR Kadambari
(d) SWRIgd Gt All of the

above

1858 5. & &1 gRATN & gl [ayfdemera wifid faar
ar?
Where in Haryana was the university established after

Harshacharitam

Mukuttadikam

1858 AD?
TSR Jhajjar (b) AP Rohtak
AT Karnal (d) It BT All of them

SR favier Rig &1 o forg forat & gam ume
Boxer Vijender Singh was born in which district?
ICI K Panipat (b) TqHgd Sonipat
foraT Bhiwani (d) SfigJind

Sfd g™ o Aga &1 I Jpex Iar G- J
TRTI el 7| TgT SIRRTH F RIFRRY HT TSR §

The knowledge of balancing in cycling helps in learning
of scooter driving. The type of transfer of learning here is

HHRIHD BYTATARIT (b) TABRIHD RIFIARTT
Positive transfer Negative transfer
IR RIFIRN Zero ) feueha vmiaRo

Bilateral transfer

YFISTS® B1 I8 FiaH GRIET 3R TR &) Sgral adl 8

This Thorndike's law promotes revision and recall

transfer

TARAT DT 99H Law of  (b) UHTd &1 997 Law of
Readiness Effect

WY BT 999 Law of ~ (d)  SFIHRUI BT 99H Law of
Exercise Imitation

fafafed & @ o afdda & daor Rigid & v
yfeaTee! # T T8 87

Who out of the following is not one of the chief
exponents of the trait theory of personality?

TA. S, 3D H.J. (b) 3R.&. fide RK.
Eysenck Pritchett

Sff. S, ATEUIE GW.  (d) SR & Hed RB. Cattell
Allport

U& AFRIS &0 § W fed gR 18 IRFUF o wmerar
| ARy Y § W e :

A mentally healthy person understand every new
situation to adopt himself. Through mental health, a

person

3B YBR GAEINSIT 81 (b) P! I FATAISIT 78T
FhaT gl can adjust very BT 81 do not adjust
well any where

A H SaqRIITd (d) fodt +f uRfufa &) gt
W%I create WW%I do not
disturbance in the handle any situation
society
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125.

—
Q
-

126.

(a)
(@]

127.

(a)

(@]

128.

(a)

(@]

129.

(a)

(@]

130.

(a)
(@]

131.

(a)

(©

SCHOLARS ACADEMY

Praffad & & @ @ Rraws % By o Rigia &
IV A FT Ued ol 82

Which is not the component of '‘Content Dimensions' of
three dimensional intelligence theory by Guilford?

Ul System (b) Wdi®TIH® Symbolic
Semantic (d) SITEEIR® Behavioural

YT AN ST BT T g -

The study of modern psychology is related to :

STEHT ¥ Soul (b) FT I Mind

dgR T Behaviour (d) Tg'@ﬂ?ﬂ J Intelligence

fafafed 7 @ o9 safdda AU o1 &t deie 82

Which of the following is projective technique of
personality measurement?
Observation (b) VETIHD Y TRI&0T
Thematic apperception
test

(d) XfT A Rating scale

#@g%wﬁﬁmﬁ@rﬁqmwww%
g‘ﬁﬁ«]ﬁ ?

|, ST SIFERUT - I8 39 SHTDRON &1 Geftfd et § S
S 1 o ¥ Waa: Id B B

11, iR SR - TR Ured = & forg fabedt fopan
& UaR P Haftid Bl g

In the context of motivation, which of the following pair
is correctly matched?

I. Extrinsic motivation - It refers to motivation that is
driven by an interest or enjoyment in the task itself.

II. Intrinsic Motivation - Refers to the performance of an
activity in order to attain an outcome.

HI&Th R Interview

&Had | Only | (b) FATBIATEI Il Neither |
nor Il
| GUTII G Bothland  (d) ®ad |l Only Il

7 3o e & IR0 H 59 USR & it &l Faaw
I TR 137

Which type of learning has Gagne placed at the lowest
position in his learning step?

TMfeaad MRTH Lexical  (b) Hobd 3IEFTH Signal
learning learning
SR ST Series (d) U AR suffix
Learning learning
fFrofaRad & 9 S 91 S SifoR® T8 § ?
Out of the following which is not an innate motive?
H¥ Hunger (b) ™M Thirst
STHIET Aspiration (d) ST Sleep
1905 | J AT H uger gf uiamn faan
In 1905 gave the first intelligence tests in
psychology.
3AhS 3R TS Alfred (b) sﬁ 3R i Harvey
and Gordon and Cyril

9 3R WA Binetand (d) &< 3R RIRa Burt, Cyril

Simon

Mob. - 01141676717,9312712114

132.

—
Q
~

—
(g}
~

133.

(a)

134.

(a)

(@]

135.

(a)

(@]

136.

(a)

(@]

137.

(a)

(©

138.

(a)

139.

I ety (TORRM) TRi&0r &1 fafor fase fsar 2
Who had developed Child Apperception test ?

w Murray (b) IA® Bellack
e Robert (d) RSRIGH] Rosenwig
"faera F 7 T g arelt vfthan B I8 faaR fras amy
ST g3 37
“Development is a never-ending process. " This idea is
associated with
THIHR 1 Rigid (b) ST T Rigia
Principle of integration Principle of interaction
e @] Rie @ B o1 Ryt
Principle of interrelation Principle of continuity
TG S TR T [ a1 H §Id 57

Generativity v/s stagnation occurs in which stage?

Puberty (b) Elﬁfﬁf Latency
HY 9D dl Middle (d) gdT gg¥hdl Young
adulthood adulthood

3T GoHTHD AT & fAHT 3 DI 4t fReror fafdy srg=mi 2

Which teaching method will you adopt for the

development of creativity?
O - ATy fafy (b) wer! fafd story method

problem solving

method

SRAT fafdl lecture (d) oAfeRT Sfder fafy
method person history method
Y[ e U J fhge faer | Yafta 22

Cognition mainly deals with development of
fraR SR I Thought ~ (b) T 3R TAR
and knowledge Knowledge and

Communication

IRIad IHT All of the

above

faaR 3R %90 Thought  (d)

and Listening

SToTeh & Tl ! fAAweT Tef &

The child's emotions are not characteristic

Tl &t U intensity  (b) Ta # 2iear quickness
of emotions of emotions

HATM BT TR-IR (d) TaT Pt W uPpfd
UPHCIpRul frequent permanent nature of
manifestation of emotions

emotions
T ¥ I A TP USR P 3ed T 82
Which of these is not a type of habit ?

dfmT daieh siad (b) FE@H 3M&d Derived

habits
gt Al of these

Neurotic habits
Tif® 3Mad Mechanical  (d)
habits

WABIS fan gfes-afr oo & fou 09 79 & AR
TG A TTah! &1 -l TR = g 2
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140.

141.

(@]

142.

(a)
(@]

143.

(a)

(@]

144.

(a)
(©

SCHOLARS ACADEMY

According to the Norms prescribed for Stanford-Binet
1.Q. Scale, what is the 1.Q. Range of Moderate Mentally
Retarded children?

50-55 A AHT 70 50-  (b)
55 to approximately 70
20-25 9 35-40 20-25 to (d)
35-40

fHRIRTaRT & IS ST BT S fodl aord fowar
ST 2

Who is described as the father of the scientific study of
adolescence?

35-40 ¥ 50-55 35-40 to
50-55
20 9 7T Below 20

e W8 Margaret (b) ST T Bl G. Stanley
Mead Hall

et giferTad Leta (d) SR¥ Aristotle
Hollingworth

TS & SR THRG B9 a1 axgell 3R Srval &
Yclteh] 1 TUGIA A B! & & forT fobdt Treq; b1 7l
o STer &2

According to Piaget, which term is used for capacity to
store mental image or symbols of objects and

experiences?
CIKIERICERAER) (b) wfdffera &

Critical ability Representational ability
TG &HdT Flexible (d) G B &HdT Learning
ability ability

Trfioe & 1 & 3R WHIET a1d AN & 58 Tgd
afshan 1 3 Tz e fawe

Proximal distance zone and scaffolding are some of the
major processes of child development. Who gave these

words?

T4 Rousseau (b) dATFIIED! Vygotsky
Hlgdstt Kohlberg (d) o Piaget

g A A BH-1 BYT ge TR &7

Which of the following statements is not correct?

fRrem AfaTe (b) Rien TR &1 &5 T
e a1 T &t AT & o IAb
TE UF Y AT 8 ST DT HIIDT DI

WY HRAT g Scope of
Educational Psychology
clarifies the need of its
study for a teacher.

fR1ef wIfaR SfferTH b
frgra SR fraw wifta
W%I Educational
Psychology establishes
principles and laws of
learning.

S forddt safad & Afkrs & Wi fogl &l gea fear S g,
IR FHedd gl

When the memory traces in the individual's brain gets

distorted the result is
(b) =R Forgetting

F{ﬁf Memory
TfJYRUT Retention (d) XI&T Interference

Educational Psychology
is a pure science like
Physics or Mathematics.

TRram FfaR St (d)
3y ot el # U
ﬁsn:{%w In its methods

of study, Educational
Psychology is a science

Mob. - 01141676717,9312712114

145.

(a)

(@]

146.

147.

(@]

148.

(a)

(©

149.

(a)
(@

150.

(a)

[ERINCRIEE IR et R R IE R L

This statement is not true with reference to Adolescence
stage

fPURTRT SIR-ATR (b))  [HIRARIT AHHATBAA
SHP—IT% Adolescence is S-IEIWT%‘ Adolescence is
inter-mediatory stage transitional stage

A gyrRfardlt  (d) o UgaH &
SMHI&TY Bl § GRS GIE
Adolescence possess Adolescence craves for
realistic aspirations identity
SfferTe St goft # Far Ffeferd foban smaa?

What will be included in the category of learning?

Rt 31Ty & HRUT (b) 31T Td S T B
HagR § g arell BRI FdgR H g arell
ORad Change in ORad Change in
behavior due to practice behavior due to both
alone practice and experience
3, YR TE IS (d) Iuded H g RE b

% HRU HGER T g gRkac All changes in
a1 Rad Change in the above

behavior due to
practice, feeling and
intuition

fofifad o @ o1 safdad geaie & ais! o uat
qb-le I Fefd et 77
Which of the following doesn't belong to the Projective
Techniques of methods of assessing personality?
BG TRI&UT BG Test (b) T faxH
Graphology
HfVGRT Ter0T Aptitude  (d) ST STy TYEOT
Test Children Apperception
Test

IS - Sull B fAaRUT safdkicd faehre b for Riefl TR
fran 3, S7 W ¥

The stages of personality development that Freud has
named as centres for energy, are

3GH d WRTEH Id and (b) 3fHdWIBH Ego and

Superego Superego
RGH, HeH d WRMeH Id, (d) I3 T8l None of the
Ego and Superego above

I faera & Rigid § forg a-iage = gaew & o1d
Edl

Which psychologist spoke of the dormancy period in the
theory of sexual development?

IS Freud (b) TS Piaget
TRET Ericsson (d) dTRE®! Vygotsky
T P YA Rigid & ufaures e 2 2

Who was the propounder of Anticipatory theory of Play ?
BT U Karl Groos (b) S Q%HFF[E:'T(_'T G. Stanley
Hall

APH-FTd Mc-Daugall ~ (d) QTSI Lazarus
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151,  Fofied & 3 oF @ orey TamieH &1 faRdr 781 87
Which is NOT the characteristic of good adjustment?

(@) MU eHare ug Al (b)  3Mmepiemsi o aid &R

DI AT Awareness of Adequate level of
one's own strength and Aspirations.
limitations.

(© ufdga uRkfufaat 3 (d) Hew@yul Tafedr @eH
a@ﬁﬁm Capability ﬁ\?{ﬁ-@ﬁf Critical fault
of struggling with finding attitude.
unfavourable
circumstance.

152. e UrS" & IR H Taf R aTdl FAIGT® BF 87
The Psychologist who discussed about “Instructional

Scaffolding” is
(@) foamt Piaget (b) TR Vygotsky
(d) SR Bruner

(c) g Bandura
153. &= 37U AT SiR Ul T 31N TR UAd g,
b REPR 3R Gediowu J 71 a8 g
Children learn by exploring their world and by
experiences, but not by rewards and reinforcement. This
is
(a) SIABRAIG Behaviourism (b) UHIHBAIG

Cognitivism
(0 WEadae (d) HI-fI=ANOT Psycho-
Associationism analysis

154. S0 b QHTSID SATH P =R T I A -

The correct sequence of phases of Bandura’s social

learning is -
(@) 3D, &, UAYROT  (b) 3T, e, SifoRonm
3R 3RO 3R gfdeRom

Observational,
Attentional, Retentional Attentional, Motivational
and Motivational and Retentional

(©) Sfadled, UfAURUN, &9 (d)  3fdclich, UfderRom,

Observational,

3R AR AR 3R &
Observational, Observational,
Retentional, Attentional Retentional,
and Motivational Motivational and
Attentional
155.  Fufafad & o9 91 SieT "gavga-Ta & Sy uet
Tt 3 ST b Ap gl A Ik fapa ume

Out of the following which is the wrong pair of "Instinct-
Emotion" as given by McDougal?

(@) JI&T - HT Combat - (b) ﬁqﬁ[ - YUIT Repulsion -
Fear Disgust

(€ IAF BHAI-aE™  (d) TRUMI - HSU Appeal
Parental - Tenderness - Distress

156. AFRP f[9bM & MU= fhares TR Bt Th
TEAYU! faRIvaT §

An important characteristic of 'formal operational stage

of mental development' is
(a) 3Fd fd abstract (b) T fIG concrete
thinking

thinking
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(c) g a4 social
thinking

d) SfTHBIGd IdER

egocentric behaviour

157. fadd & AP & s sl & GRT 3ffepT ST
qHT 3
Many aspects of the development of the personality can
be observed by .
(a) WYl questionnaire (b) Tt sifirera
cumulative record
(c) RS BTt project (d) 3P observation

work

158. TH TR W AARS ¥U 3 Hg &

Moderate mentally retarded are

(@) URMAMAARG ®UE  (b) Rifad 7RS4 Ag
HE Trainable mentally Educable mentally
retarded retarded

(© SMRATIAARG TUH  (d) USE ARG FU I He
He Custodial mentally Readable mentally
retarded retarded

159. Tdd YD Hedich] fbThT ST 87

Continuous Comprehensive Evaluation is the assessment

of
(a) Haq Fe-UloTadl Gah (b)) Qe IR Fo-ferep Al
TfAfafAr Co-curricular Scholastic and co-
activities only scholastic areas
(0 Had Qe fav (d) Pad IS SHiha
Academic subjects only TRI&UT Summative
Assessment Tests only

160. fofafEd & Q oF a1 et gr1 aftfd te UsR &1 g3
T &7
Which of the following is not a type of intelligence
described by Sternberg?

(a) aNfdbH-TOrT d (b) SIYATHAS I
Logical-mathematical Experiential element
element

(c) gedh g dd (d) ?I_c{?-ﬁ?ﬂl ddd Contextual

Componential element element

161. 3P gRI HT-T Y] B fbg =0 & gHSAT A1fT?
How should the teacher understand audio-visual aids?
(a) UFRTTA AT &1 (b) AT o forT TRIeT 3=

3Pl il b1 TRS
Alternative to traditional complementing other
teaching teaching aids
(€ U gaa ol e dt (d) Hell & Hashd (@id) T
JI BT qHY A | T U WIS URac

A device that saves teacher
preparation time

A pleasant change from the
routine of the classroom

162. I UG YRl ddh1a! (3MS.1.) & fawra &
Hids & 3feATIeD 1 el G-
With the development of Information and Broadcasting
Technology (ICT), the role of the future teacher will be —
(@) I UGH DAl (b) UTGIYEISD fADBRIT BT

provide information developing a textbook
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(¢ foenffai & S ot
TrTed ST

encourage student learning

163.  TP-Io! & IJUANT I SHfeRTH H fg IH Pl Hadl 3-

Enhancing learning through the use of technology is

(d) BT H HIFOT ST

giving a speech in class

called-
(a) I Abeiteht (b) I TS GHINU[ Tehlep!
information technology information and
communication technology
(©) D qHTDt (d) SR H I DS Ta!

neither of the above

164. fifeed H 9§ PH-w1 g & SliuaRes Riern & ual &1
YT 81 &7
Which of the following is not a part of Herbert's formal
teaching positions?

contact technology

(a) TS T BT IRGADBROT  (b) T 3R Afdchiap=or

Presentation of new material  comparison and
summarization

() THRAHRT (d) SHTHT 3R HeiH

assessment and evaluation

165. dfe Fe Ay USR AT T §- 1 (), T8 (i), STV (i),
IR (jv), TSV (v), T (vi) THTED T b forg
M & FiffeRur § WEl %Y ugau|

If the codes are given as follows — Knowledge (i),
Understanding (ii), Application (iii), Analysis (iv),
Synthesis (v), Evaluation (vi) Identify the correct sequence
in Bloom's taxonomy for the cognitive aspects.

i, iii, vi, v, i, iv (b) i, iii, iv, v, i

i, v, ii, iii, vi, v (d) i, ii, iii, iv, v, vi

166. FHfRad & @ HH- Wi aRdfa® a¥gait 3R gersi o1
TP AT SAYRONST 3R AARAGRO ST srgafRufa o
fagyar 82
Which of the following type of thinking is characterized
by a predominance of actual objects and events and the
absence of concepts and generalization?

(@) TS A (b) TR A=

Deductive thinking Inductive thinking

© Hdu= (d) THETd/ S

Concrete thinking Abstract thinking

Generalization

—
Q
=

—
0
~

167. THIT AU & o) IDEAL HIST......... a1 fae Ry fean

Tar Tl
IDEAL model for problem solving was develp by......... .
(a) SIS (b)
Bandura Ballord
(0 SBIS (d) QIR
Bransford Lev Vygotsky
168. Ria=ia dra &t ufshan # Fafafed & @ oiF e 82
I. 3MASPR BT
11 R} fafed
111, JrHTeBR0T

which of the following options are included in the
process of reflective thinking?
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. Inventing

[I. Theory Building

[ll. Generalizing
@ L3R () 13RI
IIl and I | and llI
© 13RI d) FHadll
Il and Il Only II

169. fUfafad #0 § HH-T Hige &1 Afas A uRar &
el a1 HAS Il & 1Y & Afad! & Redl # wad
35T BT BT §, T8l DI TG GER BT UGS 3R
SREXT! P1 S o 1T IRATad T R §hal § 3R
TG B DI PRI B bl 57
Which of the following Kohlberg's stage of moral
development works best in two-person relationships
with family members or close friends, where one can
make a real effort to get to know the other's feelings and
needs and try to help?

(a) WIS RgTa (b) 3 URTURD T
Universal principles Good interpersonal
relationships
(€ HIS® S 3R (d)  ITHIINIS TR §1Y
EAESUGECIDEIN Rl
Social contract and individual Maintaining the social order
rights

170. FHfREd & 9 319 Ula 4 9rd a¥ & =1 & IR B
ERLRIEEEY
Which of the following is not a characteristic of a 'five to
seven years old learner'?
(@) ARG STASTT SN (b) d AMfbeb dob BT ITINT
THd gl FR DA G
They can plan activites They can use logical
reasoning
(© IRITPIAAYBAG!  (d) d T A B Hegrsit
They ask questions all the BT IUUNT HR Jhd g
time They can use their mind
generated imaginations

171. A A= ufqua™ 1 o faAwdr 82

Which of the following is the characteristic of a talented

child?

(@) TN FEEH T (b)) FEfE-aRgde
P s o B have low IQ

They lag far behind children

of their age.

 dafodEiema  (d) TR SEAHA HA A
quT T €1 B smd g B

Ability to take quick decisions Are unable to interact with
and are self-confident. others.

172. gyt el o=t sr: wifda Tegw &, o
Gifted students will realize their inner strength when
(@) doRfaafiEAisaY (b)) ST@I AR el
fR1&T-uTe Fa § ST A §
They receive education along separate them from other
with other students students

(© JAfRIIREGUITT  (d) I IR-9R il ST ®
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they take personal tuition they are checked again and

again

173. FofaRad @ 8 &1 sRdigpd S I GHRIAD FHID
delR P AHA DA ﬁﬂa‘c{ Pdl %?
Which of the following helps rejected children imitate
positive social behavior?

(@) I (b) Sfem

coaching Scold

(c) ISt (d) FHRIHD HHIIH

modeling IGR B! Tolgd HIAT
reinforcing positive social
behavior

174. TS WP Tgq H oF g=i & Hl-FUR &
YHRIAS AT THRIAD U J AT STl § 38 7T Had 87
What are children who are rarely selected positively or
negatively in the peer acceptance aspect called?

(a) SUfEd s (b) faaTerue s=
neglected children controversial children
(€ dHg T (d) SrdiPpd I
popular kids rejected child

175.  Rrenfial & Jsarers 3w (Summative assessment)
B I T 77

What is the purpose of summative assessment of

learners?
(a) T b U g W (b) TP GRIF BT
SICaNE] assessment during class
Assessment at the end of the
session

(c) TR &7 3Thed

project assessment

(d) U6 & 3fd H e
assessment at the end of the
lesson

176. o9 IfId fApeu & Rad = & 4RT : I iR fa=Ri &
IRRUT A B T grayferd €1

Fill in the blank with the most appropriate option: To

organize knowledge and ideas.............. are involved.
(a) WRUTAGd ARTHT (b)) I TFRA 3R
ay AR HFRH

Recall Hints and Review Information Map and

Questions Concept Map
(0 SfFAVUTHS AR~ (d) RI&® U=y 3R &
3R Uy-dH KRG

exploratory software and
question banks

Teacher Modeling and Bar
Diagram

177.  3{AAD DI BT BT U aH HeT ol ¥hdl § o1

STh -
Observation can be called a part of assessment only
when assessment —

(a) SffFaRIa: Suae U (b) Fafta ®u ¥ fearsn
Y fopar o @1 8 el

necessarily being formalized  being done regularly

(¢ vl Ul s=a &1 d) TSH-aSiHal BT AAT-

o <11 %51 &Y 31T 3T ST R@T &l
Every day every child is being Boys and girls are being

178.

179.

180.

183.

TgAd Udhe ®H?

separated

A fshansii & Gedid & T § oY forg Sy 9

With which statement would you agree with regard to
evaluation of educational processes?

(a) e 8 T feefal
Tl A fbT S & U1ae™
& PR 5 faendf Fr
EERIRC]

Due to the provision of not

failing students till class 8,

students are not able to

learn.

(c) Tl Bl UN-Tel BT
IRed § HARINTT
fawadrst & 5= & RR
LERIN

Passing and failing children is

actually blaming systemic

failures on children.

(b) Te 3R el BT ST &7
SR IR H gl o forg
RO 1 Hid IR H1H
HRAT g

The fear of exams and failure

actually acts as a source of

motivation for children.

(d) T8 ad faenfial ®i
Bd 8] B & Wy
P HRU G H & BT
W MRW@IE

The level of education in the

country is falling due to the

provision of not failing

students till class 8.

3 i faRTad” &1 ar dread 82

What is meant by ‘intangible cultural heritage'?

(a) Bl B RNfgd T

intellectual objects of culture

(0 WA Hifde awqu

material objects of culture

Tl -

(b) TEHf P e aXGU

externalities of culture

(d) WPl b B TIY

household items of culture

AT TSR0 s BT Uefid B & forg vanT fasan

The term social stratification is used to refer to —

(a) auf STaRIT H FHS BT
[EEISE]

Division of society into caste

system

(© T H Yffy &1 fqureH

division of land in society

academic terminology

& 98 IdIE HEandl 8-

(b) THS I faftre Sl
a1 H faTford B

dividing society into different

caste systems

(d) FHS BT TR AT &R A
ESIEE]

Division of society into layers

or levels

181. Ffafed wsg & fom dfed & Iugey o &-
The equivalent word in Latin for the following words is-
(a) USIRR (b) TSR
EduSeer Educare
() USYHRA (d) TSgFCH
education Educatum
182. TR &1 3gwy & 31dH T dd ©-
The objective of education is an element under
(a) Qe AU (b) P FHTSTRIR
educational philosophy educational sociology
() ferep sarail (d) Rrp

educational psychology

AU B STHGRT Ud HaeR ¥ faererd # o 5= diwd
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The product that children learn in school from the
attitude and behavior of the teacher is called —

(a) dTgI UTadshH (b) W UTSRAHH
external courses secret curriculum
(c) LI UIcIhH (d) RIS UTddsHH

Zero course social curriculum

184. I8 HU (BT FHgl "UIGUHH Uh HATHR (AETTDH) B
B1Y &1 98 3MWIR § R g 39t wrsmen (famer) &
3Ot W & 3y faemff Bl wu gar g1

Who said this statement “Curriculum is the tool in the
hands of an artist (teacher) with which he gives form to
the student according to his thinking in his workshop

(school).”

(@) HHH (b) T TR

cunningham ralph taylor

(€ ST (d) TIRR

G. gauss A. wester

185. — ! BTN § f UGC, NCERT, NIEPA, AICTE

safe S e b YIB! ASTgd T ST alfce
9 fren @t JUTSl! B STHR ¢ Tb |

recommends that institutions of national
importance like UGC, NCERT, NIEPA, AICTE etc. will be
strengthened so that they can shape the national system

of education.

(a) PRI 3N (1964-66) (b) TP UTGT=AT Bt
EQUREC)|

66) national curriculum

Kothari Commission (1964—

framework
(c) fren et e yomedt (d) ST fRrem Rifd (1986)
national system of education

National Education Policy
(1986)

186. T RI&T I BT R XY e 3R st & wrdfeen
BRIESIECRE ot R A midE §1

Establishment of continuing education centers, distance
education and labor programs through employers.

(a) T el SR Faa (b) X Rrem
fRrem distance education

Adult education and

continuing education

(c) I e

vocational education

(d) ST F&RE R

National Literacy Mission

187.  THTIoIh fai 3 fRrer0r H TRiNT 1 S areft HTem paft

HRIEINY
What should be the language used in teaching social
sciences?
(a) UHE TRl BT UG (b) vadTayul
RGNS biased
representing major groups
( de™ (d) Hwd
neutral and sensitive difficult

188. e H Rl & o fou oM ard 9 s<ia &

Taw@we@ﬁﬁy%@awmaﬁwqﬁ
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It is not necessary for the case study of a social
movement given for discussion in the class to have the

following —
(@) SMT<IaH & JHTYH

Solutions to movement

() SfT<Iad & 389

Objectives of the movement

(o) SM&IcH & gEYH

background of the

movement

(d) 3o J g
TSN F &

Areas of problems related to

the movement

189. TP UTGThH SR (NCF) 2005,%pd! # faqH UgH &
fere o Qesfres eBH0n B U &1 gea a1 82
What pedagogical approach does the National
Curriculum Framework (NCF) 2005 suggest to adopt for
teaching science in schools?

(@)

laboratory work

(0 TSI AfSH B
multiple intellectual
perspectives

(b) & T (Bies few)
Field Trips

(d) BT YR e¥PIvT
inquiry based approach

190. 5 ¥ 1988 P! AU IPTA HigRaT AR TSN (NLMA)

BT I5 137

What is the objective of the National Literacy Mission
Authority (NLMA) established on 5 May 1988?

(a) e Hfodi &
PRI B P g

(b) T Rem & ThfiRar ok
TP ISR DI

QA TS BT Ga T YT BT TR

DT
Restructuring educational
organizations for better
implementation of
educational policies
(© |t o fore Ruam &1 ifd
&1 T I8 Y T
DT

PRAT
To inculcate a new sense of
seriousness and its necessity
in adult education.

(d) N Y e iR
JAMAT & IR § S d
HAT

To enthusiastically implement To make people aware about

the policy of education for all

191. Udeid &1 Hd I 8-

fairness and equality

The basic objective of the supervisor is —

(a) Sl b Ul LD Bt
A P GURA H IAD!
Her—Adl DRl

To help teachers improve

their understanding of

children

(c <l GRT 3ffeIep gHIfdd
U Y e § I
HerAdl dRAT

Helping children learn more

effectively

(b) S b Y AT B H
SHATUD! DI HIA T
T 3! T dl PRl

To help teachers become

efficient in dealing with

children

(d) STBT AU Tebilepl
DI GYRA | SATUD] Bt
e —Adl AT

Helping teachers to improve

their teaching techniques

192. A & Fuflgewal & w0 H fHd aua . & sifiyyias

YS! & A W AAGH BT A1 GST 81T AT 3R W
T R G ¢ 3R 3] B T =1y 39 IR H Ha

1 =feN?

Page 16




SCHOLARS ACADEMY

Who is appointed by SMC as the decision maker of the

school? Should parents vote or stand in the election of

managers and make suggestions about what the school
is doing and how it should be run?

(a) DA D YUY (b) fRrgrw
school principal Teacher
(c) HIaT-far (d) TRers
Parents Teacher

193.  SIIHYM Ufohan &1 e & § ST A&01 7o 57
Which of the following is not a characteristic of the
research process?

(@) SHTfd® IWHH (b) FIarRd v

Empirical approach systematic effort
() rfafia fRuferar (d) SIS fazasor
uncontrolled situations critical analysis

194. AN A & UIed-GRad! & AFfeEt 3R SRl &1
TN Ui &, il 9-

The use of maps and diagrams in social science
textbooks is relevant because they —

(a) SAYRUTH Y IH B (b) fIRIT gRI ST oA &

Sred g are created by experts

add a new dimension to the

concept

() UISI-JWd! Bl MHYS  (d)  STYRIN B WF FHRd §
CEIGKS clarify the concept

make textbooks attractive

195. QAT fax e o1 MyR-u= fhe IR o a1 82

What does the foundation of social science teaching

emphasize?
(a) faft= odl &1 v = (b) IS UGTIHH! B
HA1 qUT faaRt @ WHR HAT

ST BT RIEI0T AT accepting social hierarchies
Respecting different opinions
and examining ideas and

practices

(© UGI-GHDHI BTN (d) Ul P DI Wl
3 BT HRAT

use more textbooks encourage recall

196. :gq%ﬁsrmaﬂm-waﬁ%uﬁrw@ﬁm@m

What should be the attitude towards social science text

books?
(a) TG PR ARG T TG  (b) M & YUSR T SRTHT
Ry k| UBdIS & 3R & =4
Memorable and as a record T
As a storehouse of
knowledge and an
opportunity for further
inquiry
© IADYBRFEAH (d) A IFAA S FaH
as a storehouse of as a final statement
knowledge

197. Fafafed & 9 w1 sty | Rigon ot &t e e
= TRl § ¥ TP o1 52
Which of the following is NOT one of the steps involved
in planning teaching-learning in EVS?

@) 3T UTS AT R (b) TREH 3R gHgH & fog

[EEREaSI i HA B AroT
Reflecting on your lesson Plan to check for the learning
plan and understanding
(© TS I qaaREl () Hedid & IR0 dUR

EEIGIN DRATI
Creating a realistic timeline Preparing results of the

assessments

198. TeE-WR TR TG P I T 87
What is the purpose of writing at 'word level'?

(@ T UgEd frage (b)) S SEaiel iR s

R Tt T BT ST AT
Learning new vocabulary, Practicing new structure and
handwriting and spelling functions
(c) TSI, UR=UU], TuTe (d) IHIHD SRSl Dl

3R T B TSI
Planning, drafting, editing Development of
and understanding layout metacognitive awareness

199. TH BEI & o TRHIHICR (HARTATHD) DI HY
faPRId PR THA g ?

How can we develop psychomotor skills among

students?
(a) per IR Rreu Mfafdfdl  (b) Mo A R
gRI by essay writing

by arts and crafts activities

(c) IO USIcH & BAGRT  (d) Teell 51 GRI
By solving mathematical by solving the puzzle
puzzles

200. FHEfIRET # ¥ S A1 a1e” IR Al B &
oot & T o Ted Suged 37
Which of the following sentences is most appropriate in
reference to the consequences of doing physical activity?

(@) BHAIBISIAA P3G (b) SHEI B THHA

RG] T UGN U BT g
Students get used to Students know the use of
winning. land activities.
© POUIADBHATDGIR  (d) B 3= SHI P ga-1 d

F PG 30 § 3R ggd dofl 9 e &l

uRfRufaal & HPAR YGa  Students grow much faster
B GHRN B B than other students.

Some students come closer

to each other and adjust

themselves according to the

circumstances.
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